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Solving Trigonometric Equations
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Algebra Review

(x—-—2)(x—-3)(x—4)=0

X-2zp X730 X-4=0
K=2 ) X= 3, X= 4\

Th@roduct Property states:
If AB=10,then4 =0o0orB = 0.
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The Square Root Theorem states:

If [f(x)]? = ¢, then f(x) = +V/c
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Llet (k= see X
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18. 4 cos®> x = 3 cosx
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20.tan’x + tanx — V3 =3 tanx
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22.cos*x = cos? x

costx-cos’x = O

CO5X((05)< > O

cosk = (O Co< X = |
COS X = O

(osx=* |

New Directions: Find ALL the solutions (not just in [0,27) )
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Homework for Test #3:

Homework #6 (submitted Wed. 01/15)
e 6.1 #1-69 odd (proofs)

e 6.2 #1-41 odd

e 6.3 #1-24 all; 30-36 all; 49-93 odd

Homework #7 (due Wednesday?)

« 6.5 #1-24 all; 25-55 odd

« 6.6 #1-21 odd - finding solutions between 0 and 2pi

« 6.6 #61-69 odd - finding all possible solutions (+2pi*k)

Test #3 - Thursday 01/23?
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